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RESPONDA LAS PREGUNTAS 110 A 114 DE ACUERDO CON EL SIGUIENTE TEXTO
Lea el texto de la parte inferior y seleccione la palabra correcta para cada espaco.
En cada pregunta 110 - 114, marque A, B o C en su hoja de respuestas.
The Ethiopian
Wolf
It is an African animal,
10). is called the
Simien Jackal. Some scientists
have (110) it is not a real wolf. But studies show that
(111)—____ close relationship to grey wolves and coyotes is
evident. (112), Ethiopian wolves are more similar to grey
wolves and coyotes than any other African canines.
Scientists also believe there are about 450 of them living in
wild conditions. The (113), group of Ethiopian wolves
exists (114)_______ the Bale Mountains National Park
The Ethiopian wolf has a special red coat with a white part in
the front of the body. It is in size from 1,1 to 1.4
meters. By nature, the Ethiopian wolf looks for
food by day, but it is sometimes nocturnal in areas
where other animals follow it.
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PARTE 4.

RESPONDA LAS PREGUNTAS 16 A 23 DE ACUERDO CON EL SIGUIENTE TEXTO
Lea el articul y seleccione Ia palabra adecuada para cada espacio.

En las preguntas 16 - 23, marque a letra correcta A, B, o C en su hoja de respuestas.

The Ozone Hole

The Ozone Layer is a ‘blanket' (0) the earth. It protects (16) _.
the sun's ultraviolet (UV) rays. The problem is that there is a hole in the Ozone layer
over Antarctica. Humans made that hole (17) _ people use some products

(18) ______ have ferrible effects on the ozone.

Scientists say that this year (19) hole broke all records: it is the (20) _

in history. It is 27.4 million k. Why is this hole (21) ______ big?

One reason is that the clouds over the South Pole carry chlorine (CI) and that gas

slowly eliminates the ozone.

Now people are thinking more about the ozone. They are (22) other substances

and in some years, (23) _ will remember what the ‘ozone hole was.
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RESPONDA LAS PREGUNTAS 16 A 23 DE ACUERDO CON EL SIGUIENTE TEXTO.

Lea el texto de la parte inferior y seleccione la palabra correcta para cada espacio.
En las preguntas 16 — 23, marque A, B o C en su hoja de respuestas.

COFFEE S
Many people all over the world like (0) coffee. In Britain, for example, people
drink about 60 million cups of coffee (16) day. Insome countries, like I’(a|y,
people like (17) small cup of strong coffee, usually without milk. In other
countries, like the USA, people have coffee made (18) a lot of milk and sugar.
Coffee first arrived (19) Britain in the 17th century. Many coffee houses
(20) then. But only rich men went to (21) places to meet friends,
talk and do business. Women did not go to coffee houses (22) they were
much too dangerous. Today, coffee is (23) than before and people drink it
everywhere, at home, at work and in cafés.

Ejemplo:
0. A. drink B. drinking C. drinks
Respuesta: 0 @
16. A. every B. all C. most
17. A. some B. the C a
18. A. up B. with C. by
19. A. on B. in C. at
20. A. open B. opened C. opening
21. A. these B. this C. their
22. A. that B. or C. because

23. A. cheapest B. cheap C. cheaper




